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Question ID : 7230536085
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Chosen Option : 2

Q.15 Select the word that is related to the third word in the same way as the second word is related to the first word.

Zoology : Animal : : Onomatology : ?

Ans 3 1. Small insects
< 2. Fruits
v 3. Names
< 4 Eggs
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Section : Quantitative Aptitude
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Status : Answered
Chosen Option : 4

Section : English Language

Q@1 Select the option that expresses the given sentence in passive voice.

Hang the clothes on the clothesline to dry.
Ans 1. The clothesline should be hanged on the clothes to dry.
« 2. Let the clothes be hung on the clothesline to dry.
/< 3. The clothes should be hanging on the clothesline to dry.
/< 4. Let the clothes hang on the clothesline to dry.

Question ID : 7230536123
Status : Answered
Chosen Option : 2

Q2 Fill in the blank with the most appropriate word.

The crown prince to the throne with a grand celebration.
Ans  of 1 ascended

< 2 acceded

# 3. accessed

/< 4. acquired

Question ID : 7230536124
Status : Answered




l Chosen Option: 1

Q.3 The following sentence has been divided into four parts. Select the part of the sentence that contains an error from the
given options.

The committee discussed / the matter for hours / without arrive on / any conclusion.

Ans 1. any conclusion

' 2. without arrive on
/< 3. the matter for hours
/< 4 The committee discussed

Question ID : 7230536118
Status : Answered
Chosen Option : 2

Q4 Fill in the blank with the correct form of the verb.

She shifted to Mumbai in 2010 and  here since then.
Ans XK1 will be

X 2. was

+ 3. has been

#< 4 had been

Question ID : 7230536121
Status : Answered
Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of words.
A statement open to more than one interpretation
Ans o 1. Ambiguous
# 2 Axiom
/< 3. Ambivalent
& 4 Ambidextrous

Question ID : 7230536127
Status : Answered
Chosen Option : 1

Q6 Select the most appropriate meaning of the given idiom:

Have a close shave
Ans X 1. To hurt intentionally

7< 2. To have an absurd excuse
< 3. To suffer pain

« 4 To have a narrow escape




Question ID : 7230536126
Status : Answered
Chosen Option : 4

Q7 Fill in the blank with the most appropriate word.
The champion won three games in the chess tournament.

Ans o 1. consecutive

/< 2. contagious

/< 3. contemporary

/< 4 continual

Question ID : 7230536125
Status : Answered
Chosen Option : 1

Q8

Ans

Select the option that expresses the given sentence in reported speech.

He said to me, “Ruhi fell in the park while playing.”
/< 1. He told me Rubhi fall in the park while playing.
/< 2. He told to me that Ruhi fell in the park while plaving.

X 3
He said to me that Ruhi has fallen in the park while playing.

+ 4 He told me that Ruhi had fallen in the park while playing.

Question ID : 7230536122
Status : Answered
Chosen Option : 4

Q.9

Ans

Fill in the blank with the correct form of the verb.

They  the saplings before we reach home.
7< 1. will have planted

#< 2. planted

7< 3. will have been planting

« 4 will be planting

Question ID : 7230536120
Status : Answered
Chosen Option : 2

Q.10 The following sentence has been divided into four parts.

Select the part of the sentence that contains an error from the given options.

I can help him / to get a job / s0 he promise / to work hard.




Ans

« 1. 30 he promise
#< 2 to work hard
/< 3. to geta job
/< 4. I can help him

Question ID : 7230536119

Status : Answered

Chosen Option : 1

Q.11

Ans

Comprehension:

Read the passage and answer the questions that follow:

In an age of distractions, lack of concentration is a common problem.
Like any other element of success, the power of concentration can be
cultivated. Concentration means the power of giving undivided attention
to something. Where there is interest, this attention follows
automatically. If you are tied to a work that is not interesting, look for
something of interest in it. Then you will be able to improve vour
concentration. Concentration can be developed as a habit by constant
practice. You must persevere in trying to concentrate till vou succeed.
Habit is as strong a force for good as for ill. You should try to build up
habits that are conducive to concentration. For instance, it helps to sit
down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two
or more things cannot be done with equal intensity simultaneously. A
child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates
between the two. Concentration occurs most naturally when both the
body and the mind are relaxed. According to this view, the ideal means of
concentrating would be to sit down in a relaxed posture. That is to say
that the person trying to concentrate should not be keved up and tense.
For example, you should not begin reading a book while you are still
tired from your day’s work. Wait a little, until both the body and the brain
have recovered from the strain.
SubQuestion No : 11

Concentration is easier when the work is:
« 1. inferesting

/< 2. tiring

/< 3. straining

/< 4. boring

Question ID : 7230536130

Status : Answered




l Chosen Option : 1

Comprehension:

Read the passage and answer the questions that follow:

In an age of distractions, lack of concentration is a common problem.
Like any other element of success, the power of concentration can be
cultivated. Concentration means the power of giving undivided attention
to something. Where there is interest, this attention follows

automatically. If you are tied to a work that is not interesting, look for
something of interest in it. Then yvou will be able to improve your
concentration. Concentration can be developed as a habit by constant
practice. You must persevere in trying to concentrate till vou succeed.
Habit is as strong a force for good as for ill. You should try to build up
habits that are conducive to concentration. For instance, it helps to sit
down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two
or more things cannot be done with equal intensity simultaneously. A
child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates
between the two. Concentration occurs most naturally when both the
body and the mind are relaxed. According to this view, the ideal means of
concentrating would be to sit down in a relaxed posture. That is to say
that the person trying to concentrate should not be keved up and tense.
For example, yvou should not begin reading a book while you are still
tired from your day’s work. Wait a little, until both the body and the brain
have recovered from the strain.

SubQuestion No : 12

Q12 Concentration can be developed by:

Ans

/< 1. astrong force
/< 2. akeyed up mind
/< 3. arelaxed posture

« 4 constant practice

Question ID : 7230536131
Status : Answered
Chosen Option : 4

Comprehension:




Q.13

Ans

Read the passage and answer the questions that follow:

In an age of distractions, lack of concentration is a common problem.
Like any other element of success, the power of concentration can be
cultivated. Concentration means the power of giving undivided attention
to something. Where there is interest, this attention follows
automatically. If you are tied to a work that is not interesting, look for
something of interest in it. Then yvou will be able to improve your
concentration. Concentration can be developed as a habit by constant
practice. You must persevere in trying to concentrate till vou succeed.
Habit is as strong a force for good as for ill. You should try to build up
habits that are conducive to concentration. For instance, it helps to sit
down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two
or more things cannot be done with equal intensity simultaneously. A
child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates
between the two. Concentration occurs most naturally when both the
body and the mind are relaxed. According to this view, the ideal means of
concentrating would be to sit down in a relaxed posture. That is to say
that the person trying to concentrate should not be keved up and tense.
For example, you should not begin reading a book while you are still
tired from your day’s work. Wait a little, until both the body and the brain
have recovered from the strain.
SubQuestion No : 13

What is the main idea of the passage?

+ 1. How to deal with distractions

/< 2. How to improve concentration

/< 3. How to relax in stressful situations
/< 4 How to read effectively

Question ID : 7230536133
Status : Answered
Chosen Option : 2

Comprehension:




Q.14

Ans

Read the passage and answer the questions that follow:

In an age of distractions, lack of concentration is a common problem.
Like any other element of success, the power of concentration can be
cultivated. Concentration means the power of giving undivided attention
to something. Where there is interest, this attention follows
automatically. If you are tied to a work that is not interesting, look for
something of interest in it. Then you will be able to improve vour
concentration. Concentration can be developed as a habit by constant
practice. You must persevere in trying to concentrate till vou succeed.
Habit is as strong a force for good as for ill. You should try to build up
habits that are conducive to concentration. For instance, it helps to sit
down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two
or more things cannot be done with equal intensity simultaneously. A
child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates
between the two. Concentration occurs most naturally when both the
body and the mind are relaxed. According to this view, the ideal means of
concentrating would be to sit down in a relaxed posture. That is to say
that the person trying to concentrate should not be keved up and tense.
For example, yvou should not begin reading a book while you are still
tired from your day’s work. Wait a little, until both the body and the brain
have recovered from the strain.
SubQuestion No : 14

Which of the following hinders concentration?
/< 1. Working in a peaceful environment
#< 2. Reading with a relaxed mind
/< 3. Working at a fixed hour everyday

« 4 Doing different tasks at the same time

Question ID : 7230536132

Status : Answered

Chosen Option : 4

Comprehension:




Read the passage and answer the questions that follow:

In an age of distractions, lack of concentration is a common problem.
Like any other element of success, the power of concentration can be
cultivated. Concentration means the power of giving undivided attention
to something. Where there is interest, this attention follows

automatically. If you are tied to a work that is not interesting, look for
something of interest in it. Then you will be able to improve your
concentration. Concentration can be developed as a habit by constant
practice. You must persevere in trying to concentrate till vou succeed.
Habit is as strong a force for good as for ill. You should try to build up
habits that are conducive to concentration. For instance, it helps to sit
down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two
or more things cannot be done with equal intensity simultaneously. A
child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates
between the two. Concentration occurs most naturally when both the
body and the mind are relaxed. According to this view, the ideal means of
concentrating would be to sit down in a relaxed posture. That is to say
that the person trying to concentrate should not be keved up and tense.
For example, yvou should not begin reading a book while you are still
tired from your day’s work. Wait a little, until both the body and the brain
have recovered from the strain.

SubQuestion No : 15

Q15 The power of concentration has been referred to as:

Ans o 1. an ingredient for success

#< 2 a habit that does not die

/< 3. acommon problem of distraction

/< 4 atechnique to relax the body and mind

Question ID : 7230536129
Status : Answered
Chosen Option : 1
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Question ID : 7230536143
Status : Answered
Chosen Option : 3
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Question ID : 7230536154
Status : Answered
Chosen Option : 1

Q.3 Which amendment to the constitution allowed the right to education to waive the no-detention policy in India?

Ans X1, 2002
& 2. 2009
'3 2018
X 4 2015

Question ID : 7230536139
Status : Answered
Chosen Option: 3
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Question ID : 7230536150
Status : Not Answered
Chosen Option : --
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Question ID : 7230536140
Status : Answered
Chosen Option : 3

er,tﬁaﬁw

v 2 TEE, e TS, T

X 3. FgRTSE, ST
X 4. 3nfEem, semer 3 RER

Q6 oRa F R &7 7 9%, 9w i e I & Rv gew s Pufy 32

Question ID : 7230536151
Status : Answered
Chosen Option: 3
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Question ID : 7230536138
Status : Answered
Chosen Option : 2
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Question ID : 7230536149
Status : Not Answered
Chosen Option : --
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Question ID : 7230536148
Status : Answered
Chosen Option : 4
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Question ID : 7230536147
Status : Answered
Chosen Option : 4
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Question ID : 7230536141
Status : Answered
Chosen Option : 2
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Question ID : 7230536145
Status : Answered
Chosen Option: 3
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Question ID : 7230536144
Status : Not Answered
Chosen Option : --
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Question ID : 7230536142
Status : Not Answered
Chosen Option : --
Q15 Which agency is not under the Right to Information?
Ans X 1. Private utility companies
« 2. Central Bureau of Investigation
/< 3. Police departments
/< 4. Courts and judicial bodies
Question ID : 7230536156
Status : Answered
Chosen Option: 1
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Question ID : 7230536136
Status : Answered
Chosen Option : 4
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Question ID : 7230536153
Status : Answered
Chosen Option : 1
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Question ID : 7230536155
Status : Not Answered
Chosen Option : --
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Question ID : 7230536158
Status : Answered
Chosen Option: 2
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Question ID : 7230536146
Status : Not Answered
Chosen Option : --
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Question ID : 7230536135
Status : Not Answered
Chosen Option : --
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Question ID : 7230536134
Status : Answered
Chosen Option: 2
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Question ID : 7230536137
Status : Not Answered
Chosen Option : --
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Question ID : 7230536157
Status : Answered
Chosen Option : 3
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Question ID : 7230536152
Status : Answered
Chosen Option : 2

Section : Computer Literacy

Q@1 wWhich of the following is an operating system?

Ans X 1. Java
/< 2. Python
< 3. MS Office
' 4 Windows
Question ID : 7230536164
Status : Answered
Chosen Option : 4
.2 < .
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Question ID : 7230536167
Status : Answered
Chosen Option : 1
Q.3 A/An is a tool that enables us to reorganise and summarise selected columns and rows of data in a

spreadsheet or database table to obtain a desired report.

Ans X1 Auto Sum
/< 2. lookup

« 3. pivot
/< 4. print

Question ID : 7230536166
Status : Answered




Chosen Option : 3

Q4 The footer in a Word document is present at:

Ans

/< 1. right
/< 2. top
<3 left

« 4 bottom

Question ID : 7230536161
Status : Answered
Chosen Option : 4

Q-5 YWhich of the following is a correct orientation while printing a document?

Ans

/< 1. Margin
+ 2 Landscape

< 3. Collated
/< 4 Picture

Question ID : 7230536165
Status : Answered
Chosen Option: 1

Q6 WWhat is the key combination to print a document?

Ans

K loetrdl +X
X2l +Z
X3 etrl+C
v 4 octrl+ P

Question ID : 7230536159
Status : Answered
Chosen Option : 4

Q7 wWhat does a VLOOKUP function do?

Ans

/< 1. Increases the font of text
« 2. Searches for a value in the column
/< 3. Prints the content of an Excel sheet

/< 4. Deletes a value in the column

Question ID : 7230536160
Status : Answered
Chosen Option : 2

Q8  Watermark in a Word document is present:

Ans

/< 1. on the sides of the document




« 2. behind the body of the document
/< 3. below the body of the document
/< 4. above the body of the document

Question ID : 7230536162
Status : Answered
Chosen Option : 2

Q.9 If one wants to copy the content of the cell present above, then which keyboard combination can be used?

Ans  of 1 ctrl + D
X2 etrl+Z
K3 etrl+X
K4 ctrl +E

Question ID : 7230536168
Status : Answered
Chosen Option : 4

Q.10 Which function displays only the data in column (s) according to specified criteria?

Ans X 1. AVG
« 2 Filter
X 3 Min
#< 4 Sum

Question ID : 7230536163
Status : Answered
Chosen Option: 2

Section : FSSAI-Role, Functions, Intiative(A General Understanding)

Q@1 The color code for the food safety display board on a restaurant is:

Ans X 1. Green
& 2 Red
v 3 Purple
< 4 Blue

Question ID : 7230536172
Status : Answered
Chosen Option : 1

Q2 Which of the following is not true about FSSAI?
Ans 2 1. The head office is situated in Delhi

/< 2. It is a single reference point for all matters relating to FSS

X 3

FSSAI has been established under Food Safety and Standards. 2006




v
FSSATI has established ‘Food Safety and Standards Act 2006

Question ID : 7230536169
Status : Answered
Chosen Option : 4
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Question ID : 7230536174
Status : Answered
Chosen Option: 1

Q.4 Asper the FSS Regulation, displaying FSSAI License/Registration Number at food premises is:
Ans 1. Optional

+ 2. Mandatory

/< 3. Non-obligatory

/< 4. Voluntary

Question ID : 7230536171
Status : Answered
Chosen Option : 2
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Ans X1 FSMS

v 2 SWIFT

X 3 |EC

X 4+ FOSTAC

Question ID : 7230536176
Status : Answered
Chosen Option : 2

Q.6 A provisional NOC is granted to an imported food consignment without waiting for the lab analysis report if:

Ans

« 1. The food requires special storage conditions
/< 2. The food is for personal use

7< 3. The food is for display purpose

/< 4. The shelf life of =7 days




Question ID : 7230536177
Status : Answered
Chosen Option : 1

Q7 The current CEO of FSSALI is:
Ans X 1. Sh. Bhaskar N
#C 2. Sh. Sunil Bakshi
#< 3. Ms Rita Teaotia
« 4 Sh. Pawan Kumar Agarwal

Question ID : 7230536170
Status : Answered
Chosen Option : 4

Q8  Imported food samples are sent to NABL accredited laboratories when:
Ans X 1. The samples are retested

/< 2. The samples are tested for the second time
#< 3. The importer challenges the lab reports

« 4 The samples are tested for the first time

Question ID : 7230536178
Status : Not Answered
Chosen Option : --

Q9 FOSTAC aims to:

Ans X 1. Ensure availability of wholesome food

v 2

Train at least one person in food business to ensure food safety

#< 3. Train street food vendors online
/< 4. Lay down standards for food storage and distribution

Question ID : 7230536175
Status : Answered
Chosen Option : 4

Q10 The advantages of third party private auditing includes:
Ans X 1.

Increase the frequency of regulatory inspections conducted by the licensing authorities
/< 2. Weakens the food safety surveillance system

v

Reduce the regulatory Food Safety Inspections conducted by Central or State Licensing Authorities.

/< 4. Increases the burden on the licensing authorities

Question ID : 7230536173
Status : Answered




Chosen Option : 1
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